

## Republic of the Philippines CAVITE STATE UNIVERSITY Don Severino de las Alas Campus

Indang, Cavite, Philippines

## INVITATION TO SUBMIT QUOTATION Supply and Delivery of Books for Trece Campus

 The Cavite State University (CvSU) invites interested firms/supplier to submit quotation for the project "Supply and Delivery of Books for Trece Campus" with an Approved Budget for the Contract (ABC) of Five Hundred Seventeen Thousand Eight Hundred Seventy-Four Pesos Only (PhP 517,874.00). Quotation received in excess of the ABC shall be automatically rejected at the opening.

Item No.	Quantity	Unit	Description	Unit Cost	Total Cost
1.	1	Pc	Computer Organization and Design: The Hardware/Software Interface	18,785.00	18,785.00
2.	1	Pc	Computer Organization and Architecture	9,948.00	9,948.00
3.	1	Pc	Essentials of Computer Organization and Architecture	25,878.00	25,878.00
4.	1	Pc	Computer Systems: Digital Design, Fundamentals of Computer Architecture and Assembly Language	18,289.00	18,289.00
5.	1	Pc	Computer Systems: An Embedded Approach	15,358.00	15,358.00
6.	1	Pc	Digital Design and Computer Architecture	9,998.00	9,998.00
7.	1	Pc	Digital Design	7,338.00	7,338.00
8.	1	Pc	Computing the Environment: Digital Design Tools for Simulation and Visualisation of Sustainable Architecture (AD Smart)	6,898.00	6,898.00
9	1	Pc	Fundamentals of Data Communication Networks	8,788.00	8,788.00
10	1	Pc	Networking Fundamentals	18,768.00	18,768.00
11	1	Pc	Guide to Networking Essentials	10,878.00	10,878.00
12	1	Pc	Learning Python Networking	7,869.00	7,869.00
13	1	Pc	Nature-Inspired Networking: Theory and Applications	16,778.00	16,778.00
14	1	Pc	Software-Defined Networking and Security: From Theory to Practice	14,876.00	14,876.00
15	1	Pc	Networking Series: MCSA Guide to Installation, Storage, and Compute with Windows Server 2016: MCSE/MCSA - Exam #70-740	18,365.00	18,365.00
16	1	Pc	Software Defined-WAN for the Digital Age: A Bold Transition to Next Generation Networking	7,688.00	7,688.00
17	1	Pc	Introduction to Computer Networking	17,689.00	17,689.00
18	1	Pc	Trends in E-Business, E-Services, and E- Commerce: Impact of Technology on Goods, Services, and Business Transactions	4,599.00	4,599.00
19	1	Pc	Electronic Commerce (Full Version)	798.00	798.00
20	1	Pc	Programming Language Pragmatics	23,309.00	23,309.00
21	1	Pc	Introduction to Programming in Java An Interdisciplinary Approach	20,008.00	20,008.00
22	1	Pc	Ruby: The Programming Language	1,508.00	1,508.00
23	1	Pc	An Introduction to Programming with C++	828.00	828.00
24	1	Pc	Java Programming	898.00	898.00
25	1	Pc	MATLAB Programming for Engineers	12,898.00	12,898.00
26	1	Pc	Programming Logic and Design, Introductory	649.00	649.00
27	1	Pc	Programming Models for Parallel Computing	4,898.00	4,898.00
28	2	Pcs	Programming Logic and Design, Introductory	688.00	1,376.00
29	1	Pc	Object-Oriented Programming Using C++	4,788.00	4,788.00

30	2	Pcs	Java Programming: From Problem Analysis to Program Design Lab Manual	495.00	990.00
31	1	Pc	Groovy Programming: An Introduction for Java Developers	3,247.00	3,247.00
32	1	Pc	Discovering Computers 2018: Digital Technology, Data, and Devices	1,188.00	1,188.00
33	1	Pc	Discrete Mathematics and Its Applications(CUSTOM)	1,238.00	1,238.00
34	1	Pc	Principles of Information Systems	998.00	998.00
35	1	Pc	Guide to Operating Systems	1,008.00	1,008.00
36	1	Pc	Feasibility Study	800.00	800.00
37	1	Pc	Marketing Management	1,000.00	1,000.00
38	1	Pc	Marketing Basics Modules of Marketing	1,000.00	1,000.00
39	1	Pc	Essentials of Marketing Management (CUSTOM)	648.00	648.00
40	2	Pcs	Marketing Management	798.00	1,596.00
41	2	Pcs	Purposive communication.c2017.	278.00	556.00
42	2	Pcs	Jose Rizal: social reformer and patriot.c2018.	278.00	556.00
43	2	Pcs	Understanding the self.c2018.	278.00	556.00
44	2	Pcs	Art appreciation.c2018.	278.00	556.00
45	2	Pcs	The contemporary world.c2018.	278.00	556.00
46	1	Pc	Doing Your Early Years Research Project A Step- by-Step Guide c2018	7,790.00	7,790.00
47	1	Pc	Early Childhood Orientation Guidee c2016	3,990.00	3,990.00
48	1	Pc	Early Learning in the Digital Age c2016	6,690.00	6,690.00
49	1	Pc	Effective Child Protection, 3rd Edition c2019	6,990.00	6,990.00
50	2	Pcs	Notes and Cases on Commercial Arbitration Under Philippine Law c2017	1,790.00	3,580.00
51	1	Pc	Pantulong sa Kontekstwalisadong Komunikasyon sa Filipino (Kursong Filipino sa Mataas na Edukasyon) c2019	590.00	590.00
52	2	Pcs	Pantulong sa Pananaliksik sa Filipino sa Iba't Ibang Disiplina c2019	790.00	1,580.00
53	2	Pcs	Panitikang Panlipunan Alinsunod sa OBE Kurikulan c2019	790.00	1,580.00
54	2	Pcs	Philippine Manual of Legal Citations 8th Edition c2019	690.00	1,380.00
55	2	Pcs	Readings in Philippine History Outcomes-Based Module c2019	790.00	1,580.00
56	1	Pc	Cookery for the Hospitality Industry c2019	8,890.00	8,890.00
57	2	Pcs	A Macro Perspective on Tourism and Hospitality c2019	1,490.00	2,980.00
58	2	Pcs	Micro Perspective of Tourism and Hospitality c2019	1,190.00	2,380.00
59	2	Pcs	Legal Aspects in Tourism & Hospitality c2019	890.00	1,780.00
60	1	Pc	Learning Challenge Lessons, Elementary: 20 Lessons to Guide Young Learners c2019	4,889.00	4,889.00
61	1	Pc	Students Taking Charge in Grades 6–12	3,438.00	3,438.00
62	1	Pc	Students Taking Charge in Grades K-5	3,438.00	3,438.00
63	1	Pc	How to Develop Confident Mathematicians in the Early Years	3,438.00	3,438.00
64	1	Pc	Early Childhood Education Redefined	4,738.00	4,738.00
65	1	Pc	Authentic Teaching and Learning for PreK–Fifth Grade	4,088.00	4,088.00
66	1	Pc	Inquiry-Based Science Activities in Grades 6-12	4,268.00	4,268.00
67	1	Pc	Evidence-Based Science Activities in Grades 3–5	3,628.00	3,628.00
68	2	Pcs	The law on obligations and contracts.c2018.	495.00	990.00
69	2	Pcs	Business law and regulation: partnership revised corporation and cooperative.c2019.	695.00	1,390.00
70	2	Pcs	Textbook in the Philippine Constitution.c2019.	899.00	1,798.00
71	2	Pcs	Student manual in the Philippine Constitution.c2019.	749.00	1,498.00

72	2	Pcs	Constitution made simple.c2019.	749.00	1,498.00
73	1	Pc	Psychology c2019. ISBN 9789814846837	598.00	598.00
74	1	Pc	Zoology c2019. ISBN 9789813158757	1,498.00	1,498.00
75	1	Pc	Essential Mathematics for the Modern World c2018 ISBN 9789719809333	695.00	695.00
76	1	Pc	Essentials of Human Anatomy & Physiology + Essentials of Human Anatomy & Physiology Laboratory Manual (Set)	1,845.00	1,845.00
77	2	Pcs	Fundamentals of Ethics c2018. ISBN 9789719810179	328.00	656.00
78	1	Pc	Get Coding with Data c2018. ISBN 9781499482539	2,108.00	2,108.00
79	1	Pc	Get Coding with Debugging c2018. ISBN 9781499482546	2,108.00	2,108.00
80	1	Pc	Get Coding with Logic c2018. ISBN 9781499484182	2,108.00	2,108.00
81	1	Pc	Get Coding with Repeating c2018. ISBN 9781499482553	2,108.00	2,108.00
82	2	Pcs	Human Person Gearing Towards Social Development: NSTP-CWTS 1 Worktext for College Students c2018. ISBN 9789719804390	325.00	650.00
83	1	Pc	Microeconomics, Global Edition c2018. ISBN 9781292215624PC	4,548.00	4,548.00
84	1	Pc	Principles of Microeconomics c2018. ISBN 9789814834834	830.00	830.00
85	2	Pcs	Readings in Philippine history.c2018.	278.00	556.00
86	2	Pcs	Gender and society: a human ecological aprroach.c2019.	387.00	774.00
87	2	Pcs	The life, works and writings of Rizal.c2019.	299.00	598.00
88	2	Pcs	Mathematics in the modern world.c2019.	360.00	720.00
89	2	Pcs	Purposive communication.c2019.	390.00	780.00
90	2	Pcs	Art appreciation.c2019.	325.00	650.00
91	2	Pcs	Business research with statistical application: textbook and guidebook for doing & writing research.c2019.	365.00	730.00
92	2	Pcs	Strategic management.c2019.	689.00	1,378.00
93	2	Pcs	Human resource management.c2019.	320.00	640.00
94	2	Pcs	Operations management & total quality management.c2019.	739.00	1,478.00
95	2	Pcs	Textbook in the Philippine Constitution.c2019.	899.00	1,798.00
96	2	Pcs	Student manual in the Philippine Constitution.c2019.	749.00	1,498.00
97	1	Pc	Workload Modeling For Computer Systems Performance Evaluation	7,888.00	7,888.00
98	1	Pc	Digital Design and Computer Architecture	9,998.00	9,998.00
99	2	Pcs	Sustainable tourism.c2019. ISBN	350.00	700.00
100	2	Pcs	Philippine tourism, geography, and culture.c2019. ISBN	365.00	730.00
101	2	Pcs	Beyond outcomes accreditation: exploring the power of 'real' OBE practices.c2018. ISBN	345.00	690.00
102	2	Pcs	The teacher and the school curriculum: a guide to curriculum development practice.c2019. ISBN	320.00	640.00
103	2	Pcs	Teaching profession.c2019. ISBN	320.00	640.00
104	2	Pcs	Field study 1.c2019. ISBN	365.00	730.00
105	2	Pcs	Field study 2.c2019. ISBN	330.00	660.00
106	2	Pcs	Facilitating learner-centered teaching.c2019. ISBN	365.00	730.00
107	2	Pcs	Building & enhancing new literacies skills across curriculum.c2019. ISBN	320.00	640.00
108	2	Pcs	The school and the community, school culture and organizational leadership.c2019. ISBN	320.00	640.00

109	2	Pcs	Embracing the teaching profession.c2019. ISBN	499.00	998.00
110	2	Pcs	Assessment learning 1.c2020. ISBN	450.00	900.00
111	2	Pcs	Assessment learning 2.c2020. ISBN	390.00	780.00
112	2	Pcs	Income taxation.c2019. ISBN	595.00	1,190.00
113	2	Pcs	Business and transfer taxation.c2019. ISBN	595.00	1,190.00
114	2	Pcs	Reg framework and legal issues in business.c2019. ISBN	695.00	1,390.00
115	2	Pcs	Commercial laws of the Philippines, vol. 1.c2019. ISBN 9786210400113	650.00	1,300.00
116	2	Pcs	Commercial laws of the Philippines, vol. 2.c2019. ISBN 9786210400320	615.00	1,230.00
117	2	Pcs	Commercial laws of the Philippines, vol. 3.c2019. ISBN 9786210400137	615.00	1,230.00
118	2	Pcs	Labor code.c2020. ISBN 9786210401950	700.00	1,400.00
119	2	Pcs	Comments & cases: obligations and contracts.c2019. ISBN 9786210400069	2,100.00	4,200.00
120	2	Pcs	Obligations and contracts.c2019. ISBN 9789712399435	1,100.00	2,200.00
121	2	Pcs	Constitutional law 2.c2019. ISBN 9789712399473	1,110.00	2,220.00
122	2	Pcs	Commentaries on the revised corporation code.c2019. ISBN 9786210402018	750.00	1,500.00
123	2	Pcs	The revised corporation code of the Philippines: its theories and applications.c2019. ISBN 9786210402728	1,415.00	2,830.00
124	2	Pcs	The revised corporation code of the Philippines.c2019. ISBN 9786210400885	690.00	1,380.00
125	2	Pcs	Philippine corporate law compendium.c2018. ISBN 9789712387150	1,599.00	3,198.00
126	2	Pcs	Philippine corporate law.c2018. ISBN 9789712389368	1,999.00	3,998.00
127	2	Pcs	English Grammar Lessons Workbook 6 c2019 ISBN 9789813216235	828.00	1,656.00
128	2	Pcs	General, Organic, & Biological Chemistry c2019. ISBN 9789813156890	1,999.00	3,998.00
129	2	Pcs	National Service Training Program (NSTP)/ Civic Welfare Training Service (CWTS) 1/ Literacy Training Service (LTS) 1: A Source Book (4th Edition) c2019. ISBN 9789719811589	325.00	650.00
130	1	Pc	Principles of Macroeconomics c2019. ISBN 9789814846097	848.00	848.00
131	2	Pcs	Evidence (the bar lecture series).c2019. ISBN 9786210401974	1,715.00	3,430.00
		•	ТОТ	AL AMOUNT	517,874.00

- 2. Delivery Period: \_\_\_\_ calendar days from the receipt of P.O.
- 3. Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Bidders shall also indicate the brand and model of the items being offered.
- 4. Warranty shall be for a period of six (6) months for supplies and materials. Warranty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Warranty Certificate.
- 5. The quotation must be submitted to the Supply Office through mail, fax or email at the contact details listed below **on or before 5:00 PM** of **May 18, 2022.**

Address : Supply Office, Administration Building Cavite State University

Indang, Cavite

E-mail : supplyoffice@cvsu.edu.ph

Telefax : (046) 862-0852

6. The CvSU reserves the right to reject any or all quotations and/or proposals and waive any formalities/informalities therein and to accept such bids it may consider as most advantageous to the agency and to the government. CvSU neither assumes any obligation for whatsoever losses that may be incurred in the preparation of bids, nor does it guarantee that an award will be made.

ROSELYN M. MARANAN BAC Secretary, Goods and Services